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T-6 320 65 500 23 kg T- 6 370 70 500 29 kg
200 | T-14 320 90 500 32 kg 250 | T-14 370 90 500 37 kg
T-20 320 95 500 34 kg T-20 370 105 500 44 kg
B T-—6 A=0.0194 m B T-—6 A=0.0245 m
320 370
T . Lo ]
10 10 10 10
BT—14 A=0.0274 HT—14 A=0.0319 m
320 370
65 170 L@J L@J 220 L@J
10 10 10 10
B T—20 A=0.0290 m? B T—20 A=0.0375 m
320 370
65 170 Lﬂj L@J 220 L@J
10 10 10 10
BIANIEEECBELTT A=0.1572 BIANEIEEEEEELTT A=0. 1821
ﬁo 130 uﬁ% 110 10 130 10 110
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T-6 440 80 500 39 kg T-6 560 90 500 56 kg
300 | T-14 440 105 500 52 kg 400 | T-14 560 115 500 13 kg
T-20 440 120 500 60 kg T-20 560 130 500 83 kg
B T—06 A=0.0336 m? HT—06 A=0.0486 m
‘ 440 ‘ ‘ 560 ‘
LEJ 2170 LEJ Lﬂj 370 Lﬂj
10 10 10 10
BT—14 £A=0. 0446 m HT—14 A=0.0626
‘ 440 ‘ ‘ 560 ‘
@JML&J Lﬂj 370 Lﬂj
10 10 10 10
B T—20 A=0.0512 m B T—20 £A=0.0710 m?
’_ 440 _‘ ’_ 560 _‘
M&JL&J Lﬂj 370 Lﬂj
10 10 10 10
BIANISESECERPLTT A=0.2172 1 BIENISEREEQPLTY A=0.2772
‘ 145 1‘0 130 1‘0 145 ‘ ‘ 205 1‘0 130 10 205
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¥
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T-6 620 90 500 63 kg T-6 670 95 500 72 kg
450 | T-14| 620 120 500 85 kg 500 | T-14| 670 125 500 96 kg
T-20| 620 140 500 100 kg T-20| 670 145 500 112 kg
HT-—6 A=0.0539 n* B T-—6 A=0.0618 m*
620 670
~ | 3 |
M‘ 420 ‘M M‘ 470 ‘M
10 10 10 10
BT—14 A=0.0725 BT—14 A=0.0819 m
620 670
- | [ |
M‘ 420 ‘M M‘ 470 ‘M
10 10 10 10
B T—20 A=0.0849 m B T—20 A=0.0953 m
620 670
D( W! D( W!
M‘ 420 ‘M M‘ 470 ‘M
10 10 10 10
B IENESEEEEPLTY £=0.3072 B IENISEEEETRALTY £=0.3322
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T-6 790 100 500 90 kg T-6 890 105 500 107 kg
600 T-14 790 135 500 123 kg 700 T-14 890 145 500 148 kg
T-20 790 155 500 142 kg T-20 890 180 500 186 kg
HT-6 A=0.0769 m* HT-6 A=0.0913 m
‘ 790 ‘ ‘ 890 ‘
[ g] ] s [ g ]
L@J 570 H 100‘ L@J 670 ‘L@J
10 10 10 10
BT—14 A=0.1046 HT—14 A=0.1269 m
190 890
o r u !
L@J 570 H 100‘ L@J 670 ‘L@J
10 10 10 10
B T—20 A=0.1203 m B T—20 A=0.1581 m
190 890
] | B |
B IANIEEECBELTT A=0.3922 1t BIANIEEEEEELTT A=0. 4422

320

10 130 10

320

[, ]

500

St
f

$=1/20

$=1/20

370

10 130 10

370

500

n
¥




KRS/ ISV

WU | &858 BN ES= R SEB=S WU | &% N ES= R SEEE
T-6 | 1000 110 500 127 kg T-6| 1110 115 500 147 kg
800 | T-14| 1000 155 500 178 kg 900 | T-14| 1110 160 500 204 kg
T-20| 1000 190 500 221 kg T-20| 1110 195 500 253 kg
B T-—6 A=0.1078 m* HT—6 A=0.1243 m
‘ 1000 ‘ ‘ 1110 ‘
s [ 3 ] g [ Z] |
‘105“ 770 H]os‘ ‘noH 870 Hno‘
10 10 10 10
BT—14 A=0.1528 m BT—14 A=0.1738 m
1000 1110
3 | 3 |
‘105“ 770 H]os‘ ‘noH 870 Hno‘
10 10 10 10
B T—20 A=0.1878 m B T—20 A=0.2123
1000 1110
L | L |
‘105“ 770 Hms‘ ‘noH 870 Hno‘
10 10 10 10
B ENESEEETELTY A=0. 4472 B IENISEEEETPLTY A=0.5522
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T-6| 1210 125 500 175 kg T-6| 1310 125 500 189 kg
1000 | T-14| 1210 170 500 237 kg 1100 | T-14] 1310 170 500 259 kg
T-20| 1210 205 500 291 kg T-20| 1310 205 500 313 kg
HBT-—6 A=0.1490 m* HT—6 A=0.1615 m
1210 1310
2 [ g | g [ E |
‘110“ 970 Hno‘ ‘110“ 1070 Hno‘
10 10 10 10
BT—14 4=0.2034 m BT—14 A=0.2204 m
1210 1310
- | - |
‘110“ 970 Hno‘ ‘110“ 1070 Hno‘
10 10 10 10
B T—20 A=0. 2458 m B T—20 A=0.2663 m?
1210 1310
| | B |
m o0 Linal m 010 l11g
10 10 10 10
BIENISEEEETELTY £=0.6022 B IENISEEEETPLTY A=0.6522
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T-6 1410 135 500 221 kg T- 6 1600 140 500 260 kg
1200 | T-14| 1410 185 500 304 kg 1300 | T-14| 1600 190 500 357 kg
T-20| 1410 210 500 348 kg T-20| 1600 230 500 433 kg
B T-6 A=0.1881 m® HT-6 A=0.2208 m
‘ 1410 ‘ ‘ 1600 ‘
‘noH 1170 Hno‘ ‘155 H 1270 H 155‘
10 10 10 10
BT—14 A=0. 2586 HT—14 A=0.3008 m
1410 1600
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‘noH 1170 Hno‘ ‘155 H 1270 ‘155‘

10 10 10 10
B T—20 A=0.2938 m B T—20 A=0.3648 m
1410 1600
‘HOH 1170 HHO‘ ‘155 H 1270 HISS‘
10 10 10 10
BIANISEEBECBELTT A=0.7022 BRIANIEEEEEEL T A=0.7972
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T-6 1700 145 500 286 kg T- 6 1800 150 500 314 kg
1400 | T-14| 1700 195 500 389 kg 1500 | T-14| 1800 200 500 423 kg
T-20| 1700 240 500 480 kg T-20| 1800 250 500 530 kg
HT-6 A=0.2433 m HT-6 A=0.2668 m
‘ 1700 ‘ 1800 ‘
s [ 2] = ]
‘155 H 1370 ‘155 H 1470 Hm‘
10 10 10
BT—14 A=0.3283 HT—14 A=0.3568 m
‘ 1700 ‘ 1800 ‘
‘155 H 1370 ‘155 H 1470 H155‘
10 10 10
B T—20 A=0. 4048 B T—20 A=0. 4468 m
‘ 1700 ‘ 1800 ‘
‘155 H 1370 ‘155 H 1470 H155‘
10 10 10
B IANIEEECBELTT A=0.8472 1t BIANIEEEEEELTT £=0.8972
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